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Introduction
These exemplar answers have been chosen from the 
summer 2018 examination series.

OCR is open to a wide variety of approaches and all 
answers are considered on their merits. These exemplars, 
therefore, should not be seen as the only way to answer 
questions but do illustrate how the mark scheme has 
been applied.

Please always refer to the specification https://www.ocr.
org.uk/Images/170839-specification-accredited-a-level-
gce-economics-h460.pdf for full details of the assessment 
for this qualification. These exemplar answers should 
also be read in conjunction with the sample assessment 
materials and the June 2018 Examiners’ report or Report 
to Centres available from Interchange https://interchange.
ocr.org.uk/Home.mvc/Index

The question paper, mark scheme and any resource 
booklet(s) will be available on the OCR website from 
summer 2019. Until then, they are available on OCR 
Interchange (school exams officers will have a login for 
this and are able to set up teachers with specific logins – 
see the following link for further information http://www.
ocr.org.uk/administration/support-and-tools/interchange/
managing-user-accounts/).

It is important to note that approaches to question 
setting and marking will remain consistent. At the same 
time OCR reviews all its qualifications annually and may 
make small adjustments to improve the performance of 
its assessments. We will let you know of any substantive 
changes.

https://interchange.ocr.org.uk/Home.mvc/Index
https://interchange.ocr.org.uk/Home.mvc/Index
http://www.ocr.org.uk/administration/support-and-tools/interchange/managing-user-accounts/
http://www.ocr.org.uk/administration/support-and-tools/interchange/managing-user-accounts/
http://www.ocr.org.uk/administration/support-and-tools/interchange/managing-user-accounts/
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SECTION A

Read the following stimulus material and answer all parts of question 1 which follow in this section.

The recovery of the Icelandic economy

 In the last two decades the Icelandic economy has experienced some significant changes in 
economic activity. One influencing factor has been changes in the standard rate of income tax. 
The rate was cut in a number of stages from 46% to 36% in 2006. Despite the lower income 
tax rate, government income tax revenue rose, allowing the government to spend more on the 
country’s infrastructure. In 2009 and 2010 the income tax rate was increased.

 In the period 2008 to 2011, the economy experienced a serious recession. The country’s three 
largest banks were allowed to fail. It was the third largest bankruptcy in history and, according to 
the size of the economy, the biggest banking failure in history. The value of the country’s stock 
market fell by 95%, the currency declined in value by 60%, unemployment increased by 8% and 
inflation rose to 12%.

 From 2011 the economy has made a remarkable recovery. In 2014 its real GDP was US$14.85bn 
and it grew by 4% in 2015, one of the fastest rates in Europe. Economists have developed an 
‘alphabet’ of recoveries with the three most common types shown in Fig. 1.

Fig. 1 Different types of economic recovery

U-shaped recovery
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 In 2015 the Icelandic government was paying back its loans to the International Monetary Fund 
early. It had removed capital controls and had reformed the country’s financial sector. A number of 
the country’s industries were expanding, most noticeably its tourist industry. Income from tourism 
can fluctuate significantly. In 2015 the total contribution of Iceland’s tourist industry to the country’s 
GDP was 23%. The impressive growth of Iceland’s tourist industry was contributing to a fall in 
unemployment due to a rise in hotel construction, and an increase in infrastructure, although this 
was also putting pressure on house prices as people were buying them to rent out to tourists. In 
2015 the unemployment rate was 5.3%, which was lower than in many European countries, but it 
was predicted to rise in 2016. 
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 For a small country with a population of only 0.33 million in 2014, Iceland has a relatively high HDI 
value. Fig. 2 shows some details of the HDI values of six countries.

Fig. 2 The Human Development Index of six selected countries

Country HDI ranking 2014 HDI value 2014 GNI per capita (US$) 2014

Norway 1 0.944 64,992

Australia 2 0.935 42,261

Germany 6 0.916 43,918

USA 8 0.915 52,947

UK 14 0.907 39,267

Iceland 16 0.898 35,182

 As Iceland’s economy has grown, so has the country’s aid for developing countries. In 2013, for 
instance, its foreign aid budget increased by 27.8%.

1 (a) Using Fig. 1, explain which type of economic recovery is likely to be most beneficial for an 
economy.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [3]

 (b) Using information from the stimulus material, including Fig. 2, calculate the difference 
between Iceland’s real GDP per head and its GNI per capita in 2014.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [2]

25

Question 1(a)

Exemplar 1	 3 marks

Examiner commentary
This response identifies the U-shaped recovery and explains why this is likely to be beneficial in terms of it not involving a sudden 
change and allowing households and firms time to adjust.

Page 4 of 22Print Script
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Exemplar 2	 2 marks

Examiner commentary
The candidate provided a brief explanation, based on giving greater confidence, why a U-shaped recovery would be best.

Page 4 of 26Print Script
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Question 1(b)

Exemplar 1	 2 marks

Examiner commentary
An accurate answer which reveals an understanding of GDP per head.

Page 4 of 22Print Script

Exemplar 2	 2 marks

Examiner commentary
An accurate calculation.

Page 4 of 26Print Script
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Question 1(c)

Exemplar 1	 2 marks

Examiner commentary
The answer might have been a little more precise but it does recognise that the difference in HDI between Australia and the USA 
might be the result of a better public healthcare system or public education system. 

Page 5 of 22Print Script

Exemplar 2	 0 marks

Examiner commentary
The candidate’s answer does not reveal an accurate understanding of the composition of the HDI.

Page 5 of 26Print Script
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Question 1(d)

Exemplar 1	 3 marks

Examiner commentary
The answer starts by providing relevant evidence from the stimulus material. It then explains why this is an example of the Laffer 
curve by describing the relationship it shows and how this is influenced by the incentive effect.

Exemplar 2	 0 marks

Examiner commentary
The answer confuses the Laffer curve with the Lorenz curve. As a result, unfortunately, the comments are not relevant.

Page 5 of 22Print Script
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Question 1(e)

Exemplar 1	 8 marks

Examiner commentary
The candidate gained full marks on this question. The effects of the government repaying its loans and the removal of capital 
controls are developed. It is a two-sided answer which are considers the risks that may arise from house price bubbles and greater 
bank lending. There is a thoughtful conclusion. 

Page 6 of 22Print Script
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Exemplar 2 (Medium)	 4 marks

Examiner commentary
The answer starts quite well, explaining how GDP is increasing because of the growth in Iceland’s industries, including the tourist 
industry and recognising that there is a risk that the country may be over-reliant on the tourist industry. The answer then tends to 
run out of steam and there is repetition of the point about the economy growing.

Page 6 of 26Print Script
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Question 1(f)

Exemplar 1	 10 marks

Page 7 of 22Print Script
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Examiner commentary
A clear and logical answer. Two relevant reasons are given for why Iceland’s exports may rise. Higher exports are linked well to 
economic growth. There is relevant evaluation in terms of inefficiency but rather more economic analysis might have underpinned 
the evaluation.

Exemplar 2	 10 marks
Page 7 of 26Print Script
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Examiner commentary
A well thought out answer with good analysis of the possible benefit that Iceland may gain from lower import prices. There is also 
some reasonable evaluation based on the risk of corruption and the opportunity cost of providing aid linked to economic growth.

Exemplar 3 (Low)	 4 marks

Page 7 of 22Print Script

Examiner commentary
A rather limited answer. The candidate provides some analysis of the benefit and there is some evaluation in the implied 
consideration of the opportunity cost.
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Question 2

Exemplar 1	 23 marks

Page 9 of 22Print Script
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Page 12 of 22Print Script

Page 11 of 22Print Script

Examiner commentary
A strong answer. There is good use made of the Marshall-Lerner condition and the J curve effect, with an accurate J curve diagram. 
The answer also distinguishes between the possible short run and long effects of a fall in the value of a currency. The answer does 
not, however, establish why higher productivity and cheaper exports would lead to a devaluation and is vague on the size of the fall 
in the value of the currency.

Exemplar 2	 9 marks

Page 9 of 26Print Script
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Examiner commentary
The answer starts off reasonably well but then points needed to be established in more depth and with greater clarity. It is, for 
instance, not made clear why more competitive exports would ‘incentivise domestic firms to improve their productive efficiency’. 
The candidate may have been thinking about incentivising them to increase their productive capacity. The candidate then reveals 
some confusion about the Marshall-Lerner condition by referring to the Gini coefficient and about inelastic demand by writing 
‘demand will remain the same.’
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Question 3

Exemplar 1	 3 marks

Page 9 of 22Print Script

Page 10 of 22Print Script



Exemplar Candidate Work

23

A Level Economics

© OCR 2018

Page 10 of 22Print Script

Examiner commentary
The candidate draws a Phillips curve but does not show deflation on it. It is stated that unemployment will be high but it is not 
explained why. The second diagram does not show deflation occurring and there is a demand curve rather than an aggregate 
demand curve.
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Question 4

Exemplar 1	 19 marks
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Page 16 of 22Print Script
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Examiner commentary
The answer analyses contractionary fiscal policy in a clear way. There is relevant use of the Laffer curve, linking it to incentives and 
firms’ costs. There is evaluation in terms of the level of capacity. There is also reference to supply-side policy but analysis of how such 
a policy might increase employment would have been useful. There is also some confusion of the effect of a fall in employment on 
the size of the labour force.

Exemplar 2	 12 marks

Page 13 of 26Print Script
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Page 15 of 26Print Script

Page 16 of 26Print Script

Examiner commentary
The answer starts by providing some reasonable analysis on supply-side policy measures and later there is a relevant reference to 
the role of confidence. Some of the rest of the answer is rather vague and lacks depth. The comments about raising lecturers’ wages 
do not take into account the possible impact on the quality of education provided. The comments on reducing interest rates might 
have been linked more firmly to reducing the budget deficit and more might have been made of ‘a lack of higher skilled jobs in the 
economy.’
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Exemplar 3 (Low)	 3 marks

Page 13 of 22Print Script

Examiner commentary
A short answer which provides some straightforward analysis of a cut in government spending. The candidate seemed uncertain 
about what else to include.
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